SHIP s :
TRUCTURE - FINAL EXAM~- ANSWE RS 44/’!/24

L “r‘j‘#o;fﬁ Fpefﬁhfi A TIT T A
5 L | Jt gLl T d: | d5 [Aixadr -
For [=130 © Yt  @l5ze| o6 [3456] 6,97 [ 243 ‘545 iﬁ'&gf
LT o) @ 19,4 |10,45] 202,73) 485 'ﬁi@ 1053,3
t= 792 (] 160xdo HP ZT7 Z=2%1.29 25:491,9 . =, =7408
g‘gzg[cm’f]/’ 8M=I;\JA /Hma)c

Ywva-= =2 /é-f;g,OQECM—J 3 Iﬂﬂ:26+é4:'fg
[SM= 734,6 lem®]

Ymax = 7’6+’/,2“3/08:44,«42[CM:] X

§2: WEB Frame  Required section modulus (Sect .10, A 5. 5,1’)
W= 0,55e- (% p- ek [em?] '
624-0_}! (s Z—/SOO +0,6 8= O,?4Emj , E= 2,9‘6[”?]
Je D—D/2~75 2 D=L/ tr=1182Dn] > L= 6,38 [m]
o hpe + U = 15+638/2 = 4,693 [m] L T= 745 [m]
P=fic= Jo(T—=2)+ Pe- CF- (1+ =/7) Len/m?]
L=24 (Ce-f—O,?—)Co- Ce. jOEkN/M"‘j JC:»O/G JODF(W% ‘Ff‘aMé&)
Po = 24 (0,F+0,7)-8,533-1,0-94 = 75,05 [N /m%)
B_Z/OS: 54, 95 Leitjol] Ne=4,0( ne cross ties ] ) > L:'/,O

B‘/: 3443 Lem?]

§3: SHEER STRAKE (Secton 6. 6:3)
The Width: h=80w+5-

The +hickness: L= O,S‘(ézwwés)
e = -ES b= 1450 Emmj
tp: De<k plating Thickness (section %, A.5)
« N\ LE ) e 44 [m/}qj

tp= é"”;ﬂ:(%s‘-éo,o&/_)m or
i o WY 20 il Po'(foﬁ%o;:) I O > 2T D=Y
Le,= 7A-a- Pk * te CmmJ 7

CEmin= (5,5+0 OQ-L)JE [moi] Pp=27,9 [ eN/m>] P = Pe (’Hdv)
. D, - 30 (1+0445) = 34,35 [EN/n]

tes= 57 Cmm )

. & 5 ] %{—5:3/["”/”3 = +p = tmin="41,0 [mm]

L' =8/ L] Alse, C heck ]Q)F mrntmuym Hhickness For

i kel (Sactien 6, BBt wbos VI k = 174 Lonin]
Thorefore, [Ep= 74,5 Lmm]| ot least]

ts, , ts, or s, , wWhichever /s greater/
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"és—_" ?



i:s'f: 7’8/3- nf- a- V RS/(/F;L + 'ék EMMJ ﬂf::.'f,o (qung\f{;‘ge ]Q’C‘M“’%)
bsy = fi2f-a [P-k + tr Lom]  Z=hos+ X2 =1,87 L]
Ly = 183-p- o\ By 05t mecn rte Dum] =869 [kun?) P:«—VOOQ[MY

Crt=128520n/mn] : Ce= 55 /=55[Nnt) O\g._ 94,2 [V jmni?]

Cy= 115 +71,64 =12,76 [ _
bse = 8,35+7,5 = 3,815‘0,,"‘2473 fs= ’553 = Jf:_g = YL,0 [mmﬂ

ls,= 11, 9%+ 14,7 = 13,7 Lom ]
The #hickness of the sheerstrate #hen, =0, 5(#, 5“”4): 12, %5
/ = 7’4[”’”’3 ot Leowst/ / = t5e '/Z/[MMJ _ g

®4: PILLAR (+he above onel) (Section 410, C )
For‘ ‘/hé gu/e/? sgcj.,on 0{;:[——-/00[/”/”_7 65’14:14] O(; 83&,@7

The p://otf /odo( , may be ﬁau.ﬂo( fom :
o As req =10+ é > As= (i) /4= 1772 Lem™]

Bt mmzsf’ pe & A%72-Cp /10 CkM]

Gy = (R/s)Rest ; %= 1 /(& +NF3Z) *S‘st@

ls= D/3=3940m] k= ozsm- 3,33[em]) ; Rew=235 [MPd)

E = Q_Oo[Gpa:[ = [s=394Com] ) As=-4,29 > )i

@ = ofg[fH-”p(As 820 2 Np=0,2%¢4 (for Fubular Sec%on)
G- 1,647 3 X=04789 ; §=20 C(in genersl)

0F = & pos = 56,27 [NMmo?] | Ps 99,7 kwjf—\\
Alrernalive Soltons  Po BT Cin/r) 3 L= gl

P- 200(6P (T (ds‘-0l?) )6t 4]+ (T /4. L>Zf‘f/m2j 243, kuﬂ
Note +hef no ch[\ez‘:j foctor s mc/uofed (jMf
Consider a safety fecktor a.?f 2 as syggested
bfj Teoman G2ALP, 7hen , /p XB[kNj/ ,Qéagonab/e/

._Q_



@5 : BULKHEAD ( Plating + StifFeners ) (SQO#OA 44/
The Hhickness #= Co.a-Np +-4 [mm] 8.2.4)
“min = 6,0 \f’T Lmm]
P=¥81-h Lhvfr] (= D/3 3,924 [n]
h= U +4=2,970w] 3 P=294 [en/n?]

For #he stiffener, p= 204 (N /2] but 3
the plating, h= L +4 = 4,94 (] = p=48 5 finj?]
Assumine Thot +he stfPener Spaing /s a=0,74 (]
t=09NF 074 igs 1t = 4,644 45— 640 Gon]

tmin = 6,0 ECt o [mm]

——

= }-&P: 6,5 [mmj/ at leas+]

7 he feyuf\fe_o( secthon moolulus ij J##WJ -
W s Conool. (% P fcmgj :
M= —ms : Jo start with no broackets assumed /
+hen Me—=-A '
Ma=020¢4 (0,74 /3,9¢) [4— (0,7 49, = 0,152
Mie A2 0452 = =0, 97
One might see 7The brackets at uppes end !
Then, (s =0,36-f =0,36
We 0,977.0,36- 0743942201 = 1126 [em?]

[ 70x 9 Bulp seckion| has 720 [om®] sM
A#ﬁﬂa#d&/\\ﬂ/ I both onds brackefed : +hen C\S:O,Q@‘f




